WILLIAM ONCE AND A STREET								
Company Name:	MRMLLP		Appro	Approved by: N.Srinivas	V.Sriniva	as		
Project:	GMR		Sign:					
Work Description:	D-block third lift duct civil works	vorks	(
Name of the Contrac Kileshwari	Kileshwari		1					
Prepared By	V.Sanketh							
Date:	22-08-2024							
S No. Item Head	Item Description	Length	Width	Height	Z	Onantity	I Inite	Item Head
Brickwork	b	0		. Gir	1403.	Countries	CITIES	10121
	Brickwork for panel room w	5.00	1.00	7.00	200	70 00	e →	
third lift duct	(5'x7')	6.00	1.00	3.00	4.00	72.00	s⊕ SE	
civil works							142.00	
	4" beds for lift walls	6.00	1.00	1.00	4.00	24.00	sft	
	2" beds for lift walls	5.00	1.00	1.00	4.00	20.00	sft	
2 Panel room F	Panel room slab centring, roc	5,00	3.00	1.00	1.00	15.00	sft	
slab b	bending & concreting						15.00	
								*
3 Plastering T	Third lift walls palstering at	6.00	1.00	5.00	4.00	120.00	sft	
=	terrace (Internal)				2			
	Third lift walls palstering at	7.00	1.00	8.00	4.00	224.00	sft	
te	terrace (external)							
70	Panel room walls plastering	10.50	1.00	7.00	2.00	147.00	sft	
S	Slab top and ceiling plasterin	5.00	60	3	3	30 00	€	
							531 23	
							021.00	
				-				

Company Name:	MRMLLP		Annroved	Annroved by N Spinivas	ivas	
Project:	GMR		Sign:		11 7 4 5	
Work Description:	D-block third lift duct civil works		0			
Name of the Contractor	Kileshwari				ē	
Prepared By	V.Sanketh					
Date:	22-08-2024					
S No. Item Head	Item Description	Ouantity	Units	Rate	Amount	Item Head Total
Brickwork	Þ	,	C.I.I.	Years	1 HILLOWITE	INCIII IICAG I
1 D- block	Brickwork for panel room walls	142.00	sft	13.00	1.846	
third lift duct	(5'x7')		1		1,010	
civil works						
	4" beds for lift walls	24.00	sft	11.00	264	
	2" beds for lift walls	20.00	sft	9.00	180	
2 Panel room	Panel room slab centring, rod	15.00	sft	40 00	603	
slab	bending & concreting				000	
3 Plastering	Panel room walls, ceiling, slab internal	521.00	sft	16.00	8,336	
	external plastering					
	Tala 1					
	TOTAL				11,226	
					2	

Allowance for Consumables

Kileshwari

Mallapur Hyderabad

Date: 22.08.2024

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

D-block third lift duct civil works

Towards:

Bill for consumables.

S No.	Description	Amount
1.	Brief description of work done: D-block third lift duct	
	civil works	Rs. 2,245 /-
	Total Amount = 11,226 /-	
	Work done from date 26.06.2024 to date 21.07.2024	

Amount in words: Two thousand two hundred and forty five rupees Only.

Sign: _	

Allowance for equipment

Kileshwari Mallapur Hyderabad

Date: 22.08.2024

In favor of:

MR Mallapur LLP Gulmohar Residency

Project / Site:

Location:

Mallapur

Type of Work:

D-block third lift duct civil works

Towards:

Bill for equipment.

S No.	Description	Amount
1.	Brief description of work done: D-block third lift duct	
	civil works	Rs. 4,490 /-
	Total Amount = 11,226 /-	
	Work done from date 26.06.2024 to date 21.07.2024	

Amount in words: Four thousand four hundred and ninety rupees Only.

Sign:	
-------	--

Allowance for labour charges

Kileshwari

Mallapur Hyderabad

Date: 22.08.2024

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

D-block third lift duct civil works

Towards:

Bill for labour charges.

S No.	Description	Amount
1.	Brief description of work done: D-block third lift duct civil works	Rs. 4,490 /-
	Total Amount = 11,226 /- Work done from date 26.06.2024 to date 21.07.2024	

Amount in words: Four thousand four hundred and ninety rupees Only.

Sign:	
-------	--

1709209412_Intl memo no. 918-001_- Anx B - Work Completion Report_28-02-2024_ver3.xlsx

Company	MKMLLP	Name of contractor	Kileshwari	70	Sl. No. site bills reg.	ills reg.	しへへん	
Project/site	GMR	Nature of work					(
			Third lift duct civil works		Dt. site bills reg.	reg.		23-08-2024
Block no.	D-block	Work done from date	26-06-2024	>	M-codex bill ID.	Ħ.		
WO no.		Work done to date	21-07-2024	·	WO issued?	na edin elektronić Savena in klasiń astrokrajać počin, odażnicki, odańcznicki,		
WO date		Contractor bill no.		0	GST bill required?	uired?	NO	
SI. No.	Unit/floor no	Details of work	Qty		Units	Rate ID	Rate	Amount
_	Brickwork	D-block third lift panel room walls,duct brickwork		142.00 sft	₽	CW126	13.00	1,846
		4" beds for lift walls	2	24.00 sft	ft	CW117	11.00	264
		2" beds for lift walls	2	20.00 sft	ft	CW115	9.00	180
	age continued to							
2	Panel room slab	Panel room centring, rod bending, concreting		15.00 sft	7	RCC103	40.00	600
3	Plastering	Panel room walls, slab, lift walls plastering		521.00 sft		CW130	16.00	8,336
							Total	11,226
						Add GST @	18.00%	0
				Total	amount in	cluding taxes	al amount including taxes for work done	11,226
anawad hu	Annexad by project manager	Approved by Oc team		•				
Sign:	The same			S	Sign:	Sign:	Call	
Date:	2/80/00	Date:		ם	Date:			

bills at HO (can be sent by courier).

of director sign of respective E&D member to be taken. 7. Director include - Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place

9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original